MIAM I-DADE’ MIAMI-DADE COUNTY, FLORIDA
] METRO-DADE FLAGLER BUILDING
BUILDING CODE COMPLIANCE OFFICE (BCCO) 140 WEST FLAGLER STREET, SUITE 1603

PRODUCT CONTROL DIVISION MIAMI, FLORIDA 33130-1563
(305) 375-2901  FAX (305) 375-2908

NOTICE OF ACCEPTANCE (NOA)

Therma-Tru Corporation
1687 Woodlands Drive
Maumee, Ohio 43537

Scopk:

This NOA is being issued under the applicable rules and regulations governing the use of construction materials.
The documentation submitted has been reviewed by Miami-Dade County Product Control Division and accepted
by the Board of Rules and Appeals (BORA) to be used in Miami Dade County and other areas where allowed by
the Authority Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Division (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right to
have this product or material tested for quality assurance purposes. If this product or material fails to perform in
the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may immediately
revoke, modify, or suspend the use of such product or material within their jurisdiction. BORA reserves the right
to revoke this acceptance, if it is determined by Miami-Dade County Product Control Division that this product or
material fails to meet the requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the High Velocity Hurricane
Zone of the Florida Building Code.

DESCRIPTION: “Classic Craft” Opaque Fiberglass Door 8’0 Inswing

APPROVAL DOCUMENT: Drawing No. S-2179, titled “Classic Craft Opaque” Single & Double Inswing 8°0
Fiberglass Door”, sheets 1 through 7, prepared by RW Building Consultants, inc., dated 3/18/02, bearing the
Miami-Dade County Product Control Approval stamp with the Notice of Acceptance number and approval date by
the Miami-Dade County Product Control Division.

MISSILE IMPACT RATING: None

LABELING: Each unit shall bear a permanent label with the manufacturer's name or logo, city, state and
following statement: "Miami-Dade County Product Control Approved", unless otherwise noted herein.
RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no
change in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in the
materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of any
product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to comply
with any section of this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed by
the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then it shall
be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its distributors
and shall be available for inspection at the job site at the request of the Building Official.

The submitted documentation was reviewed by Raul Rodriguez

NOA No 02-0109.06

Expiration Date: June 20, 2007
Approval Date: June 20, 2002
Page 1




2
¥

<

THERMAtTRU®
"CLASSIC CRAFT" FIBERGLASS DOOR

8'0 INSWING WITH & WITHOUT SIDELITES

F

GENERAL NOTES

1. THIS PRODUCT IS DESIGNED TO MEET THE SOUTH FLORIDA
BUILDING CODE 1994 EDITION FOR MIAMI—DADE COUNTY.

2. WOOD BUCKS BY OTHERS, MUST BE ANCHORED PROPERLY
TO TRANSFER LOADS TO THE STRUCTURE.

3. PRODUCT ANCHORS SHALL BE AS LISTED AND SPACED AS
SHOWN ON DETAILS. ANCHOR EMBEDMENT TO BASE MATERIAL
SHALL BE BEYOND WALL DRESSING OR STUCCO.

4. DESIGNED PRESSURE RATING SEE TABLE PAGE 1.

S. THIS PRODUCT DOES NOT MEET THE WATER REQUIREMENTS
FOR MIAMI—DADE COUNTY.

6. MIAMI-DADE APPROVED IMPACT RESISTANT SHUTTERS ARE REQUIRED.

7. SIDELITES ARE AN OPTION AND CAN BE USED IN A
SINGLE OR DOUBLE CONFIGURATION.,

8. UNIT SHALL BE INSTALLED ONLY AT LOCATIONS PROTECTED BY

CANOPY OR OVERHANG SUCH THAT THE ANGLE BETWEEN THE EDGE

OF CANOPY OR OVERHANG TO SILL IS LESS THAN 45 DEGREES.

UNLESS UNIT IS INSTALLED IN NON—HABITABLE AREAS WHERE THE

UNIT AND THE AREAS ARE DESIGNED TO ACCEPT WATER INF!LTRAT!O@

=

\
RESIDENTIAL INSULATED FIBERGLASS DOOR

f Common to all frame conditions

Door & Sidelite Leaf Construction:

face sheets: Fiberglass skin 0.125" minimum thickness, with yield strength
T-yme.);g,OOO psi

Core design; Polyurethane foam core, with1.9 Ibs. density by BASF.

Panel Construction; The panel skin is congtructed from a sheet moldin

gzm oun’ Me). Tfhe intelf_;']or cavit f1.68 thk{ is filled l(vjlﬂtl 1.2 Ibs. dens_flty
] ne foam, The pangl face sheets qr e e wood stiles

an r&?syufﬁeja ch and hmgepstﬁes are ?.'\1/‘[' or ?.§L.g e la cﬁ stfl‘é which is

4.125" x 1.50" is the latch reinforcement. The top and bottom rail are of a

wood composite material. In the double door application the inactive door

is fitted with an_extruded aluminum astragal of 6060-T6 ,al.lo{v. _

e_Construction: The frame is construgted from finger, jointed pine. The

eader is joined to the side jambs with &f #38 x 2 1/? long screw at each

side. The mullions are secured together in ‘a sidelite application using

#8 x 27 long PFH Wood Screws ) screws per each mullion. The units uses

an Inswing saddle threshold measuring 5.75™ x 1.548".

%iF%ﬁte GlaiE' g The sidelit Is are sandwich glazed using a two pigge i
it frame T & 5v5' %ee} %(;gegry 31032@ o‘rf thge exterior %ith an %G. P

glazing tape, (Stik—II thk. cellufarTage and with Dow 795 silicone compond
on the exterior & interior sealing the frame to the sidelite panel & to the
glass.. The lite frames are held together with a #8 x 1 1/2" long Plascre

w
\r_a_#6-18 1 3/4” long PFH screw. )

TABLE OF CONTENTS

DESCRIPTION

TYPICAL ELEVATIONS & GENERAL NOTES

VERTICAL CROSS SECTIONS & BILL OF MATERIALS
HORIZONTAL CROSS SECTIONS

HORIZONTAL CROSS SECTIONS & NOTES
ANCHORING LOCATIONS & DETAILS

ANCHORING LOCATIONS & GLAZING DETAILS
UNIT_COMPONENTS

SHEET #

NN A GIN -

37.5" MAX.

" OVERALL WIDTH
36" MAX.
I_-PANEL WIDTH

ACTIVE
=

&
1 :[T

=— 98" MAX. OVERALL FRAME HEIGHT

7

[

[|

|

j~—95.25" MAX. DOOR PANEL HEIGHT

E

~——— 98" MAX. OVERALL FRAME HEIGHT

a% —)

| b

5" MAX. OVERALL FRAME WIDT

e
< e w5, 5

36.625" MAX.
PANEL WIDTH =

W/ASTRAGAL
13.9375" MAX. /

WIDTH

[ 7.125" MAX.

.. D.L.O. WIDTH IN—ACTIVE

K—

K~

<

le——— 79" MAX. D.L.O. HEIGH
Gg
30
NI

@.:L

M oofor

ACTIVE

l—— 105.5" MAX. OVERALL FRAME WIDTH

—

| o |

[|=—

15.5" MAX.
FRAME WIDTH

13.9375" MAX.

[|

9]

ALL MODELS
ARE VIEWED

fROM_INTERIOR PANEL

L1

IN-ACTIVE
=

—

=

SHEETL 3

7.125" MAX.
D.L.O. WIDTH

D

95.25" MAX. OVERALL
SIDELITE PANEL HEIGHT
79" MAX. D.L.O. HEIGHT

-y | |
SEE DETAIL "A'—~—
SHEET 3

IDTH

ACTIVE

F_T

DOUBLE INSWING UNIT

SINGLE W/SIDELITES INSWING UNIT

fe— 68.5" MAX. OVERALL WIDTH —=
36" MAX.

WIDTH

7.125" MAX.

D.L.O. WIDTH

D

13.9375" MAX.

WIDTH

7.125" MAX.

D.L.O. WIDTH

THERMA-TRU CORPORATION
1687 WOODLANDS DRIVE

MAUMEE, OHIO
PH. (800) 537-8827

ING

RAFT OPAQUE"

EOUBLE INS
8'0 FIBERGLASS DOOR

"CLASSIC

PART OR ASSEMBLY:
TYPICAL ELEVATIONS
& GENERAL NOTES

PRODUCT:
SINGLE &

BY

3/18/02 |GENERAL REVISION WN
DATE
REVISIONS

1

NO

CONSULTANTS, INC|
813.684.3831

DESIGN PRESSURE RATING (WHERE WATER INFILTRATION REQUIREMENT IS NOT NEEDED)

UNIT TYPE

WITHOUT SURFACE BOLTS

WITH SURFACE BOLTS (ACTIVE PANEL)

SINGLE

+ 75.0

PSF

=80 PSEL S

DOUBLE

+ 47.0

PSF

- 47.0 PSF

+ 60.0 PSF - 60.0 PSF

SINGLE & DOUBLE
WITH SIDELITES

+ 47.0

PSF

~ 47.0 PSF

+ 60.0 PSF - 60.0 PSF

Approved as complying with the
Florida Buiding Code

Date
NOA#

1y, JO0T -
40199, 0%

Miami Dade uct
Divis%
By {

oaE: 11/11/01

SCALE: N.T.S.

owe. BY:  WLN

cHK. B: RW

DRAWING NO.:
S-2179

e

sHEeT 1

oF _7_

A,



1.15% MIN.
EMB.

©

1.25% MiIN.
EMBED

.'fEI ‘ < 4 "~'."'~'.'

Ly

X2 1 |

a

0

NF Zx

' =2

W
el G

— EXTERIOR
S
o
I
Ly
S
vy
~d
3 1.68" MIN. __ I
® PANEL THK.
S
)
]
o
o
()]

.25" MAX. SHIM —= |=—

98.0" MAX. OVERALL FRAME HEIGHT

95.25" MAX. PANEL HEIGHT

EMB.

1.25" MIN.

X

-

79.0" MAX,
D.L.O.

-

1.68" MIN.
PANEL THK.

40

14

VERTICAL CROSS SECTION
DOOR PANEL

2"\ VERTICAL CROSS SECTION

\2_/ SIDELITE PANEL

INSWING DOOR BOTTOM SWEEP VINYL
IVES SURFACE BOLT #454 .25 STEEL STEEL
1/4—20 SEX BOLT W/ 1/4—20 FEMALE END STEEL

Ih '

: v DESCRIPTION Material 1| = g
: DOOR SKIN .1257 MIN, THK. FIBERGLASS BY THERMA TRU| ppcon 4o Q>
with yield strength Fy(min.)=6,000 psi ~x
TOP RALL (1.50" x .94" THERMA-TRU WOOD COMPOSITE) WoOD COMPOSTE|| £ O _ ©
ATCH STILE/LOCK BLOCK (THERWA-TRU, LVL OR LSL & OAK 1.50° x 4.1257)| WOOD COMPOSITE S w S
HINGE STILE (THERMA-TRU, LVL OR LSL & OAK 1.50° x 1.50") WOQD g9 g N~
BOTTOM RAL (1.50° x .94" THERMA=TRU WOOD COMPOSITE) WOOD COMPOSTE|| & 2~ ™
@ POLYURETHANE FOAM (BASF, 1.9lbs. DENSITY) | FOAM O3 g
SHORT REACH COMPRESSION WEATHERSTRIP (THERMA—TRU)| _FOAM Q[ u
LONG REACH COMPRESSION WEATHERSTRIP (THERMA-TRU) | FOAM CsS=8
4" x 4~ HINGE .097" THK. (THERMA—TRU) STEEL r 220
#10 x 3/4" lg. PFH WOOD SCREW (Hinge to Frame) STEEL § >
10 x 1" LG. PFH_WOOD SCREW WOOD COMPOSTE|| & &5
RS 10 _x_ 2" [G. PFH WOOD SCREW STEEL W o
-t - /8 x 2 1/2° [G. PFH _WOOD SCREW STEEL s -
3/16" TAPCON ANCHOR (ELCO) STEEL
fd @ SIDELITE BOTTOM BOOT .090" EXTRUDED VINYL | _ VINYL
. 2x_INNER_WOOD BUCK WOOD . O
SN SEE NOTE MAX. 1/4" SHIM MATERIAL WOOoD ws
: 5 SHT. 4 KWIKSET TITAN 700 SERIES PASSAGE LOCK - wy
29 NOT USED = a< 0
HEADER 4.656" x 1.211" (THERMA—TRU, PONDEROSA PINE)] _WOOD Cudd Eo
41 — 4.563" x 1.25” STRIKE JAMB (THERMA-TRU, PONDEROSA PINE)| _ WOOD Cags ©3&
SEE NOTE & 4.563" x 1.25" HINGE JAMB {THERMA—TRU_PONDEROSA PINE) | WOOD SRR 25
57 N, | SHT 4 & KWIKSET TITAN 700 SERIES DEADBOLT _ — Coffy 9o
LASS THK T ASTRAGAL WINDJAMBER I WRBOT (.052" WALL) | ALUM. 6060-T6 || o~ Q2 &
- o GLAZING, 1/2" INSULATED TEMPERED GLASS GLASS 5l Q0w g &
Z NOT _USED _ 2 3330
25 N #8 x 1" LG. PANHEAD SHEET METAL SCREW STEEL 2 Pg 2
- NOT USED = = =
3 {165 Tmst é D3/4 PHILLIPS FLATHEAD SCREW (FOR NTEM #33) | STEEL ég
o -
IIERIOE 3 NOT_USED =
K . 1/8 THK. CELLULAR GLAZING TAPE (STIK—Il_TAPE) -
. . 3 PLASTIC LIP LITE FRAME (PVC, THERMA—TRU) PVC
o =2 PLASTIC LIP LITE FRAME (SMC, THERMA-TRU) SMC
S /@ . 4.656" x _1.211" BLANK JAMB (THERMA-TRU, PONDEROSA FINE] WOOD 2
) @ N SIDELITE SIDE STILE (THERMA-TRU, 1.531" x .656° PONDEROSA PINE) _ WOOD S
o 2 #10 x 1 3/4" [G. PFH_WOOD SCREW STEEL EI
§ SS__LATCH STILE (THERMA-TRU, WOOD COMPOSITE 1.531" x 4.024)| WOOD COMPOSITE R
ety NOT USED ALUM.
N A SILICONE_CAULK (DOW_795) SILICONE od
=] #8—10 x 1 _1/2" PLASCREW (FOR ITEM #34) | STEEL S
SIOELITE T0P & BOTTON RAL (TRERWA-TRU, 1.531" x 656" PONDEROSA PNE)] _ WOOD IS5
#8 x 2" LG. PFH WOOD SCREW STEEL ~
3/8" x_3/8" QUARTER ROUND FINGER JOINTED PINE| _WOOD 3
1" L. x .040" DIA. BRAD TRIM_NAIL STEEL —Z
SELF ADJUSTING INSWING SADDLE THRESHOLD ALUM./WOOD

RY aone

CONSULTANTS, INC
813.684.3831

Date__Jva

Approved as vulpiyiig with the
Florida Buiding Code
Jd, Tudl

NOA#_02-0109.0b

Miami Dade Product Contro}

By
7

Divisi}? A/( /H
e

oate: 11/11/01

SCALE: NTS
DwG. BY: WLN
CHK. BY: RW
DRAWING NO.:
S-2178

SHEET 2 oF 7




SHT. 4

1.68" MIN
PANEL THK

24 ( EXTERIOR )
{

SEE NOTE 2
INACTIVE

ACTIVE

-

<
(_7‘" oo @ S o
A <. L= 9
R <

= " - - ” 4

:o_e

o7 .-o' ob"' .'°
ASTRAGAL RETAINER BOLTS,
(2) 17.0" LG. X 0.3125" DIA. ® TOP &
(2) 8.0" LG. X 0.3125" DIA. ® BOTTOM
(4) BOLTS TOTAL
o ASTRAGAL
(SEE DESIGN PRESSURE CHART)
1.15" MIN.
EMB.
—=i |} .25" MAX. SHIM
— - 15" MIN.
' . ' _—‘ C~SINK
« ] SEE NOTE 5
v / SHI,_ 4 =X
Ly s = EXTERIQ
L ' -
v 83:
v ‘
EAR
DR f
v: . §
9 <
< = -
= %2}
2
23
&)

‘.' . : 4 4

.' ‘ )

. ‘. A."

ITERR SEE NOTE
@ 8 SHT. 4

ORIZONTAL CRQSS SECTION
@ SIDELITE TO BUCK

®)

OPTIONAL SURFACE BOLTS IN ACTIVE PANEL

(SEE DESIGN PRESSURE CHART)

RN
. X
SEE NOTES £ 34
5 SHT. 4 s
SRR T z
i
| 0 Gl
0., @ & .., 0
ST g ¢ 4
I A o 0 .° ,° -
‘o S < (-] o !’
N oy
23 N3
= SEE NOTE 29 41) ©
o L 8 SHT. 4 SEE NOTE 1
-5 SEE NOTE SHT. 4
7 SHT. 4
<E> © HINGE JAMB TO SIDELITE
/_/‘ ACTIVE
, P
N 3ol
.0 ,
N = 8 ° e
\J O? ..o‘ °°.. ‘Qv
48
DETAIL"A*

THERMA-TRU CORPORATION
MAUMEE, OHIO
PH. (800) 537—8827

1687 WOODLANDS DRIVE

HORIZONTAL
CROSS SECTIONS

8" FIBERGIASS DOOR |

"CLASSIC CRAFT OPAQUE™
PART_OR ASSEMBLY:

SINGLE & DOUBLE INSWING

PRODUCT:

LN
BY

GENERAL REVISION

3/18/02
DATE

1
NO

REVISIONS

'%WBUILDING

CONSULTANTS, INC
813.684.3831

Approved as complying with the
Florida Buiding Code
Date__Jvat 2,0 200

oATE: 11/11/01

SCAE:  NTS

DWG. ar: WLN

NOCA#_o2- le ‘ob

Miami Dade P ct Con
Dmsm

CHK. BY: RW

DRAWING NO.:
S-2179

SHEET 3 oF 7

o,



NOTES:

2
. .15" MIN. L s ~
C—SINK : . T =~
EMBED. S 2 a o
_ 15" MIN. __, oL EVJQC?
EXTERIOR X C—SINK LA PN
£z . =0 M
© I @\ \ o O ) )
e ©2Z . C 22~
- < ;X r9OsSo
Q Zx
=+ IT g ) C%
f 1 Y S 3™
2 “Sﬁ T a. SE @ ﬂ:% T
RN LRI LN S EXTERIOR = E © o
P P : L X ”
) , "’,.. ‘.‘f. .'-é. ."'a:,.,-é-o,- ‘.’. 0
' = nwn
29 au
INTERIOR @/ | Sugf 2
‘l 2
Sor X 1\ HORIZONTAL CROSS SECTION §8é§ 2
(18) INTERIOR \4/ LATCH JAMB TO BUCK, GQ §£ 82
L OV NE
WA Qhy 25" MAX. Elan Jx 59
v HINGE “JAMB ™ 10~ BUCK —~ = ofiM SPACE 2 439 £8
o2
€| 0Z 13
=0 |a
1. SPACING FOR (LITE FRAME SCREWS) IS AS FOLLOWS: FROM =
THE BOTTOM UP ON SIDES; 6.5%, WITH (7) MORE SPACED 35
AT 9.875" 0.C. THERE ARE (2) SCREWS BOTH TOP AND SEE NOTE 6
BOTTOM AT 2.125" IN FROM EACH CORNER. (4357 'y
. SPACING FOR #8 x 1" PANHEAD SCREW . st NoTE (N (18) S
ATTACHING THE ASTRAGAL TO THE INACTIVE DOOR IS AS ZX ST 4 \j EXTERIOR X 2
FOLLOWS: FROM THE TOP DOWN 17, 3%, 5% 18.25" 54" 34 SF $F & v
77", 90.25", 92.25" AND 94.25" i3 o #3 o =| 5
. THE HEAD JAMB IS ATTACHED TO THE SIDE JAMBS WITH ez ©Z g @
(3) #8 X 2.5" PFH WOOD SCREW. - 8 -5 5 |
. THE THRESHOLD IS ATTACHED TO THE SIDE JAMBS WITH ; e
(2) #8 X 2.5" PFH WOOD SCREW. . — . 1 ~
. THE SIDELITE IS DIRECT SET INTO THE JAMB WITH (12) | Q Q Q e Sl
#8 x 2" PFH. WOOD SCREW. THERE ARE (4) AT S S—- |7 | IR , o o0 0 08 Peg Q5
EACH VERTICAL JAMB, FROM THE TOP DOWN AT 13.5”, : 0y = AL i g T S eees ™
31" 48.5" 66". THERE ARE (2) AT THE HEADER AT 4" r o v o = TA B
FROM THE OUTSIDE CORNERS OF THE FRAME. THERE ARE X 4 a 0 g = TEe ~12
(2) AT THE SILL, 4" FROM THE OUTSIDE CORNERS. gr T 7 T
. SPACING FOR #8 x 2" SCREW SECURING THE MULLIONS o RW
TOGETHER IS THE SAME AS THE PERIMETER ANCHORING n < 4 @3) consh A NG
SCREWS. 6" DOWN FROM THE TOP AND UP FROM THE 3 Y29 813.684.3831
BOTTOM WITH (4) MORE SPACED AT 16.9" O.C. (45
. WHEN ATTACHING THE HINGE TO THE JAMB AND THE BUCK SEE NOTE 1 ,
V SEE NOTE oaTe: 11,/11,/01
USE #10 x 2" SCREW. WHEN ATTACHING THE HINGE TO SHT. 4 8 SHT. 4
THE JAMB AND THE SIDELITE AT THE MULLION USE ITEM INTERIOR Approved as complying with the  |SALE NTS
#10 x 1 3/4" SCREW. FlondaBmdmgCodezéoz DwWG. BY: WLN
. SPACING FOR THE BRAD TRIM NAIL SECURING Bate Lo 202 20 chk. B RW
THE QUARTER ROUND TO THE SIDELITE FRAME IS AS 3\ HORIZONTAL CROS ON Misroi Dade Praguct DRAWING NG
FOLLOWS: 2.0" FROM ALL ENDS AND A MAX. OF 12.0" O.C. @ STRIKE JAMB TO SIDELITE gavis%y ?7 S—2179
Y.
s SHEET _4 oF _7_

Jes



ZSEE DETAIL "F" SHT. 5

| (o= |
u- o LI} b b b = =R ql
6"—.— e » - }—-5"
31’__ L 1 b "_3"
r-‘ 6" 6” 3 6" P io
3" - 3 ¢ 3 ¢ 3 ra =3 |
Y T A | T T
SEE NOTE : we. @ |
N P,
3 SHT. 4 SEE NOTE SEE DETAIL ¢
_ ] /5 SHT. 4 "F" SHT. 5 -
&
TYP, - i
% 3 SEE DETAIL T
- i nGu SHT- 5 — U’
I SEE NOTE SEE DETAIL
@ 6 SHT. 4 FE" SHT. 5
TYP. ) e
SEE DETAIL
*H"” SHT. 5 iEgH’#-o T4E
N 1 R
ol
3" - b SEF DETAL -3
6" | "H" SHT. 5 - 6

SEE NOTE
7 SHT. 4

DETAIL "E”

SURFACE BOLT
STRIKE PLATE

DETAIL F

ASTRAGAL RETAINER BOLTS HEADER
STRIKE PLATE & OPTIONAL
SURFACE BOLT STRIKE PLATE
AT HEAD

SEE NOTE
THIS SHT.

SEE NOTE
THIS SHT.

DETAIL G

2 1
| 1
— | 8 02: ~
N
55,8
= = N
© _.' 6" 6" —= |..-_ «Q SEE NOTE €3O N
3 SHT. 4 o M
I ‘ = L = + SRR
—_— ._I - . | 8 L 8
BT Eo=o
v b <32
NN ==
~ © TN =
- — 3 . © 0 W Q I
3 ) NG -
S ha N |[g
2 - TYP. g
B - ' P . O
- : W
B - g | 339 ¢
w || ) : 29 &
Hi s ‘s -]
Y : q ez g2 9y o=
7-
SEE DETAIL _¢1 : 2oz 04
SEE oeaL /| "Dl E" SHT. 5 % 33%2 %
L mon l = g s SRS
© ¢t TYP. "D |rg3 8|88 mE <
__‘_ &' 5 |&
. L _' TYP. " = E
T ) —6 6 ~ | ) =
— 6 SEE NOTE
© 4 SHT. 4 z
SINGLE DQOR &
2 |y
— 2
i 2 5
ol |
=
g @
DRILL THRU FOR &
A 8.357" BOLT DEEP Shw
ENOUGH FOR A 2" IS
BOLT THROW NOTE: ™
/ l 7 _SURFACE BOLT  USE ITEM #13 A #8 x 2 1/2” PFH WOOD SCREW TO ._g
/ i —| " STRIKE PLATE  ATTACH THE STRIKE AND DEADBOLT PLATES TO THE
v i —< JAMB OR ASTRAGAL EXCEPT IN THE MULLED ﬁ
_]/ APPLICATION WITH THE SIDELITE USE ITEM #43 A #8 x ms%g;w::g
[ / C] ? 2" PFH WOOD SCREW. 813.684.3831
Y 5 N\ )
' N e 11/1,/01
@ Approved as tomé)(zing with the SCALE: N.T.S.
Approved b " :
nyn 5':3“—?31«&""», 2007 owe. 8Y:  WLN
REIAL_H° NOAH#_02-0109- Ob _ CHK. BY: RW
ASTRAGAL REF,GINER BOLT HOLES mg,';l"d’y“c("} DRAWING NO.:
& OPTIONAL SURFACE E _
BOLT STRIKE PLATE AT SILL Byfﬁv, - S-2179

SHEET 5 oF 7

i!i. '



o~ SEE DETAL "F" SHT. 5 ,
y = e NI |
[ [ eads 1 ”
: = —1 6" —= | 6 2 L
6" 39" 3" = =3 3"~ 3" |g: = N
" w6 SEE NOTE N
SEE NOTE 41 6 # . 6" == | == ” Q
] T | ] 1T l i £Qx
- - - . EEH ‘f—f- - R I~ - ' m =z @) %
: @ : cor 0 1o TYP : TYP t S gm.m
. . L] o
TYP. =~ & © 23939
- - S g — . - : = g S
SEE DETAIL " A 0 " 3 =
_ "F" SHT. 5 _ : o @ - 13 TN :
' 3 T 58 S TYP. £ ~ & w3 g
0 0 E —
- - : . - |
0 SEE NOTE _1
SEE DETAIL 2 i T~ 5 SHT 4 SEE DETAIL
G" SHT. 5 | N E\ = "E”, SHT. 5 %
SEE DETAIL n 3 TYP. O =
9 g 89 d N N 8 Z
z l : P, - z - wn
q G 3/ @ |l - ® oy 39
SEE DETAL : &~ =2
g ?  SEE DETAIL _/ TYP wn TYP Ouw S
AT SHT. 5 S 6" sHT. 5 ' I ' inf:o1 LS
- - l ' (14) @ (19) =33% o2
[ J - — "L" " " » 0 OQ'EE ﬁ ZN
{ a3 el K TR g K oxdd 23
) SEE NOTE SEE NOTE 518w Izl €
- 4 SHT. 4 - \— / - o | I 2|23 S
L Ln | i1 gl TYP' Ly 4 SHT 4 men gég«:g%
” » » ” o : (7] a
e~ |— e e ot o e M o Rl
6 6" 6 =%
3” | e 3" ;
SEE DETAIL *H* SHT. 5 6" — 6"
=
DOUBLE DOOR INGLE DOOR W /SIDELITES = 2
3 Q
&l @
~d
gl 2
50" GLASS .50" GLASS N
34 (32 BITE B!TE N
{+e)
EXTERIOR 40 @ Sz
j@ TG/LSSSTEMPERED LXTERIOR .\ 1 /a TEMPERED ™
I~ e . o
ZIT g . o /@ / 2T . [ —|=
5: g Q.- '50 = .25" AR 2: : 0 ' 00 ; .25" AR
.00 g - o o .° R 1 SPACE -fg% - . © A' 1 SPACE '% BUILDING
©Q|Z NO 5 O a 1 1< \,9 & . } CONSULTANTS, INC
X ..\ ‘a . 25% STEEL w & .25" STEEL . .
: X . INTERCEPT _; X 1/8" TEMPERED 813.684.3831
INTERCEPT = E 1/8" TEMPERED SPACER =z E GLASS
INTERIOR @ SPACER 3 " GLASS INTERIOR =, DATE: 11/11/01
E 7, 2 0 -
@ N3 Ny Approved as complying with the scae:  N.T.S.
41 ] (&) Florida Buiding Code 2 — WLN
s e §E N ¥ PYITLII RW
. HT. 4 - - CHK. BY:
:')4“‘"::) Dade P “’d““m DRAWING NO.:
5" INSULATED GLASS W/ 5" IN By S-2179
SMC LITE_FRAME GLAZING DETAIL PVC LITE FRAME GLAZING DETAIL J /4 e B o 7




4" RED
OAK CAP

—-I '——.3.725" LvVL OR LSL—-| _L

e T

1.54”

LATCH SIDE STILE/ LOCK BLOCK
LVL OR LSL W/ KILN DRIED RED OAK CAP CORE MATERIAL: LVL OR LSL
ALTERNATE CORE MATERIAL: PONDEROSA,
RADIATA, PULAI, ELLIOTTIl, TAEDA OR SUGAR

1.920"
b g
T1TQ

-

.591°

.807

VINYL .080" MAX. WALL, .035" MIN. WALL

"—————4.656"———-’

—‘i 1.211" |——

4" RED
OAK CAFP

®

PINE, DOUGLAS OR WHITE FIR, CEDAR, INCENSE

HINGE SIDE STILE

CEDAR OR REDWOOD.

—
©
o

©,

0.09" EXTRUDED VINYL WALL

f— 2.141" —=f
=-1.691" =

S

—~f f——=-1.1" CORE
~ —
g 5
ANt ¥

~ 1.50" j=— P

Q

N

I—*.343LI

INSWING SIDELIT

¢ / SN T
— S JN_ O O
LS 9
K 097" —{|~—
®
75" f— 8"

[ = I © f—— 2.875" ——= N

i) : ©C 10 j
@ i | s 95° &T © SURFACE BOLT STRIKE (.125" STEEL)

=
-—

© 592"
o
__:i_ ’».579" @ :
3
(% N
i . =
175" —f | © —ff]179
@ K
COMPRESSION WEATHERSTRIP LONG REACH
BY THERMA—TRU M
PLASTIC LIP_LITE FRAME FOAM CELL CORE W/VINYL JACKET FOAM CELL CORE W/VINYL JACKET]
EXTRUDED SMC

—-{ 150" |=
ool
7

THERMA-TRU CORPORATION
MAUMEE, OHIO
PH. (800) 537-8827

1687 WOODLANDS DRIVE

.080" THK. WALL VINYL TYP.

2 L'J
BOTTOM _RAIL 22 @
2
" Eagds ©
1.077 2 2 S>3 Q
< ” [Te} &O = =
N " i g 10777 8 584a 3
I I SET= B
’ G &ul 4 =z
Viisard /) 2 3agsl
Yoo 8 Tt 531 275 |2
«© Ire] . a wn a
¥, ' >
. SIDELITE I?LANK S|
SIDELITE TOP ’_—gm_
FINGER JOINTED
PONDEROSA PINE =
ASTRAGAL RETAINER BOLTS, =
(2) 17.0° LG. X 0.3125" DIA. . B |,
@ TOP & (2) 8.0" LG. X 3 =
0.3125 DIA. @ BOTTOM A I 23
(4) BOLTS TOTAL = S
' Ko o
n
N
™~ N
2 f ° =
L 1] B8
/O W, SO
%R!LL THROUGH FOR 3
.357" DIA. ASTRAGAL ~|Z
RETAINER BOLTS
DRILL THROUGH FOR A #8 K‘M/summc
_—L PFH WOOD SCREW 2 PLCS CONSULTANTS, INC.
l 0 T 813.684.3831
E P L 11/11/01
Sl Approved as complylng w )
- Fl‘:)‘:';gi‘lcl)uﬁing Code SCALE: N.T.S
"f‘ Date__Jv~t_20 L ?;”?f DWG. BY:  WLN
2-010%. Of
Nm?m D:de Product Control CHK. BY: RW
D Division .LA— DRAWING NO.:
"/\#ﬁ A $-2179

sHEeT 7 oF _7

l‘\i.bil



